First listening exam traveller 1 ..

Name/………………………………………                                 class/ ……………………

Choose the correct answer :                                            
1 /  The conversation is between                             
a-  2 persons .                  b-  3 persons .                                                           
2 / He asks a bout   
a- his nationality .               b- his name .                                                          
3 / He ask a bout   
a- his home .         b- his address .                                                 
4 / The man    
a- can use a computer .       b- cannot use a computer .                                
5 / The man   
	a- can ride a motorbike .         b- can ride a motorbike and drive a car .   
    
	
Tr. Muna .
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